
 Factory UTV  Can-Am Maverick Trail (2018+) UHMW Standalone Rock Slider Instructions v1.0          PG. 1 

 

Can-Am Maverick Trail 
(2018+) 

Standalone U.H.M.W. Rock Slider Instructions 
Ultra. High. Molecular. Weight. polyethylene all terrain skid plate / under armor kit for UTV’s 

Contact Us:   FACTORY  UTV  LLC. 
9237 Beatty Drive Sacramento, CA 95826 
Phone : (916) 383-2730 
E-mail : info@factoryutv.net 

Go online:  www.Factoryutv.net 

Installation Guide 



 Factory UTV  Can-Am Maverick Trail (2018+) UHMW Standalone Rock Slider Instructions v1.0          PG. 4 

 

   Can-Am Maverick Trail (2018) Instructions           .  

* 
*(Align Edge) 

E 

A A 
A A 

A A 

A A 

A A 

A A 

A A 

A B 

A* 

B 

C* 

A B 

*A 

*A 

*A 

*A 

*C 

A 

D* 

A 

A 

A 

A 

A 
A 

A 
A 

A A 

*D 

Main Skid 

#2 

#3 

Rear Skid 
* 

#1 

Front Diff. 

B 

B B 

A 

E 

E E 4x 

(*Nutsert tool not included)  

E 

A* 

A* 

A* 

A* 

B 

C 

A*

A* 

A* 

A* 

B 

C 

A* 

A* 

A* 

Hold  

Rock sliders in place 

mark mounting holes and  

*Drill out rivets as needed. 

 Re-use mounting holes. 

See drilling instructions 

prior to drilling. 

#1 

 

 Use a  :  #№7  ( 13/64th”) drill bit.  
( one size above the commonly available 3/16th” bit ) Recommend the use of : ¼”- 20 Tap *( Optional ) 

To drill and thread self tapping bolts in to chassis frame.   

Finger Thread All Bolts Prior To Fastening Securely With Power Tools.  
We strongly recommend the use of a “Thread Locking Compound” when installing any mounting hardware. 

( When installation is complete , ensure all bolts are fastened securely.) 

Rock Sliders : 
Carefully Drill out rivets as needed for Rock Sliders in ( A*) locations, 
Use: (8x)  ¼”-20 x 1” Self Tapping Bolts in Main Skid: ( A*) locations. 
Use: (2x)  M6- 1.0 x 30mm Flange Bolt in Main Skid: ( B ) locations. 
Use: (2x)  M6- 1.0 x 40mm Flange Bolt in Main Skid: ( C ) locations.  

Rock Slider Hardware : 
 

¼”-20 x 1” Self Tapping Bolt 

 8x 
 

M6- 1.0 x 25mm Flange Bolt 

M6- 1.0 x 30mm Flange Bolt 

 

 

 2x 

 2x 

Counter sunk washers 

 12x  

 


